AQAEKATH AOTIZTIKH OAYMIIIAAA 2016
ENINEAO 2

INSTRUCTIONS TO CANDIDATES
OAHTIIEZ NPOZ TOYZ ATIATQNIZOMENOYZ

For each question, choose and circle the correct answer A, B, C, or D.

MNa ka0e epwTNON, ENIAEETE KAl KUKA®OTE TN oWOTH anavrnon A, B, I A.

1. A sole trader had receivables of €4.200 on the 31 May 2015. During May he
received €12.500. During the month he gave cash discounts of €500. In addition an
amount of €100 was written off as bad debts.

If the balance of receivable on the 1 May 2015 was €3.250, how much were
the credit sales during the month of May?

A. €13.550
B. €12.150
C. €14.050
D. €13.950

1. 'Evacg autoepyalouevocg eixe €4.200 xpewotec Tnv 31 Maiou 2015.KaTta Tnv d1dpKeld
TOU PNVOG Maiou, gionpa&e ano Toug XxpewoTeg €12.500. Kata Tnv d1dpKela Tou URva
E0WOE TAPEIOKEG ekNTwoel €500. EnminpocBeta Xpewotrng nou oOgelAe €100
dlaypagpnKe.

Eav 1o unoAoino Tmv XpewoTtwv Thv 1 Mdiou 2015 Atav €3.250, n6oeg ATAV
ol NWANCEIG €Ni NICTWOEI yia Tov giva Maio;
A. €13.550
B. €12.150
. €14.050
A. €13.950
2. The following accounts are included in the trial balance of a limited company:
Share premium
Investments
Dividends received

Carriage outwards.
Bank overdraft

Nhhe

Which of the above accounts usually have a credit balance?

A.1,2and 3
B.2,4and5
C.1,3and 5

D.1,2and 5
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2. O1 nio kaGTw Aoyaplacpoi cupnepiAapgBavovTtal oto 1I00{UYIO ETAIPEIAC NEPIOPIOHEVNG
gubuvnc:

AnoBepaTikod unép To ApTIO
. Enevduosig
. MepiopaTa sionpakTéa
. MeTapopika nwAnocewv
. A\oyapiaopocg napatpaBnyuaTog

u b WNH

Moiol anod Toug NiIo Navw AoydpiacHoUG £XOUV CUVHOWG NICTWTIKO
unoAoino;

A.1,2kal 3
B.2,4ka1 5
1, 3kar 5
A.1,2kal 5

3. A company's trial balance failed to agree, the totals being:
Debit €81.560
Credit €80.842

Which ONE of the following errors could FULLY account for the difference?

A. The omission of a prepayment made of €718 from the company’s books
B. Discounts allowed of €359 debited to the discounts received account, in error
C. No entries made in the records for cash purchases totalling €718
D. Bank overdraft of €359 was included in the trial balance as a debit
3. To 1o00QUylo piag eTaipiag 0ev cUPPwVoUae. OI GUVOAIKEG MICTWOEIG KAl XPEWOEIG,
NTav w¢ akoAouBwg:
Xpewoelg €81.560
MoTwoelg €80.842
Moio ENA ano Ta nio katw Aadn eubuvovtal ANOKAEIZTIKA yia Thv
OUVOAIKN J1agopa;
A. Mia nponAnpwun €718, dev oupnepIAn@Onke ota BIBAia TnG eTaipeiag

B. EknTwoeIg nou napaxwpnbnkav a&iag €359 xpewbnkav kata Adabog oTov
Aoyapiaopo eKNTWOEIC nou ‘Angonkav’

. AyopéEg TnG peTpnToic agiag €718 dev kataxwpnbnkav orta BiBAia

A. O Aoyaplaopog napatpaBriypartoc Ye undAoino €359 oupnepIAnPOnKe oTo
I00CUYIO HE XPWOTIKO UMOAOINO
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Tax payable is shown under:
A. Current liabilities
B. Non-current assets

C. Non-current liabilities/Long term liabilities

D. Current Assets

dopol nAnpwTEol napouaialovral KAT® and TNV Karnyopia:

A. TpEXOUOTEC YNOXPEWOEIG

B. Mn KukAo@QopoUv evepynTIKO
. MakponpOBETUEC UNOXPEWOTEIC
A. KukAo@opouUv evepynTIKO

The following payables control account for an entity where all goods are purchased

on credit contains some errors

\ Payables/Creditors Control account

€
Purchases 48.161
Discounts received 840
Closing Balance 20.520
69.521

€
Opening balance 19.230
Cash paid to suppliers 49.420
Bad debts 871
1 69.521

What will the closing balance be when the errors have been CORRECTED?

A. €18.001
B. €17.131
C. €18.811
D. None of the above

O nio KATWw Aoyapliachog EAEYXOU MIOTWTWV YIA HIa ETAlpeEia 6rnou OAEG Ol AyOopEG

yivovTal pe niotwon €xel Aaen.

\ Aoyapiacpoc EAeyxou MICTWTAOV

€
AyopEg 48.161
ExnTwoeic Angdeioeg 840
TeAikd unoAoino 20.520
69.521

€
ApxIKO unoAoino 19.230
MANPWHEC OE NPONNBOEUTEG 49.420
Eniopaleig XpewoTeg 871
169.521_

Moio O6a €ival To TeEAIkKO undAoino oTav di1opOwOouv 6Aa Ta Aaen?

A. €18.001
B €17.131
r. €18.811
A Kavéva ano ta nio navow.
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6. Which TWO of the following costs should NOT be included in valuing the
finish goods of a manufacturing company?

(1) Carriage inwards for raw materials
(2) Bank interest payable

(3) Depreciation of office equipment
(4) Production manager’s salary
A.1and 2

B.2and 3

C.3and 4

D.1and 3

6. Moia AYO ano Ta nio katw kootn AEN npénel va cupnegpiAngOoulv oTn
anoTipnon TV TEAIKOV NPOIOVTWV HIaG HETANOINTIKNG ETAIPEIAG;

(1) MeTa@opika yia NPWTEG UAEG
(2) Tpanelikoi TOKOI NANPWTEOI

(3) AndoBeon e€onAiopoU ypagpeinv
(4) MioBoi di1eubuvTn Napaywyng
A. 1 ka2

B. 2 kal 3

. 3 ka4

A. 1 ka3

7. The following transactions relate to Marios telephone expense ledger account for
the year ended 31 December 2015:

€
Accruals brought forward 250
Cash paid 1.500
Prepayments carried forward 150

What amount should be charged to the statement of profit or loss in the
year ended 31 December 2015 for telephones?

A. €1.400
B €1.600
C. €1.350
D €1.100
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7. O1 ak6AoubBec ouvaAAlayeg oxeTidovTal e TOV Aoyaplacpd ThAEQWVWV TNG
ENIXEipnong Tou Mdapiou yia To €ToG nou €éAnge Tnv 31 AekeuBpiou 2015:

€
OpeIAEC and PETAPOPA NPOoNYOUHEVOU ETOUG 250
MANPWHEG O€ PETPNTA 1.500
MponANPWHECG OE HETAPOPA OTO EMOHPEVO ETOC 150

Moi1o Nooo Oa XpewOei 0TOo AoyapiacHo KEpIOINHIMV Yia TO £TOG Nou £An&e
oTIG 31 AskeHBpiou 2015 ooov apopa Ta £€£§08a TNAEPOV®V;

A. €1.400
B. €1.600
. €1.350
A. €1.100

8. Which of the statements below are/is CORRECT?

1. A balanced trial balance means that all transactions have been entered correctly
into the ledger accounts

2. Recording the purchase of computer stationery by debiting the computer
equipment account, would result in an understatement of profit and an
overstatement of non-current assets/fixed assets

3. The trial balance is part of the nominal ledger
A.1and 2

B.1and 3
C. 2 only

D. None of the above
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8. Moleg/nola ano TiIG Nio KaTw dnAwoeig eivai AAHOEIZ;

1. Edv o€ £€va 100JUYI0 TO CUVOAO TWV XPEWCEWV 100UTAI JE TO GUVOAO TWV
MNIOTWOEWV auTd OeIkVUEl OTI OAEG 01 CUVAAAQYEC £XOUV KaTaxwpnbei owoTda oTa

BIBAia.

2. KataxwpwvTag Ta avaAwaoida TV NAEKTPOVIKWV UNOAOYIOT®WV OTOV Aoyapiacuod
TWV NAEKTPOVIK®V UMOAOYIOTWYV, 6a €XEl 0av ANOTEAECHA TNV HEIWON Tou
KEDOPOUC KAl TNV au&naon Twv PN TPEXOUOWV MNEPIOUCIAKWY OTOIXEIWV.

3. To 100lUyI0 €ival JEPOC TOU YeVIKOU KaBoAikou.

A.1kal 2
B.1kal 3
. 2 yoévo

A. Kapia ano Tic nio navw

9. A retail company pays rent to the owners of the shops it uses. The total amount of
rents paid in the year ended 31 December 2015 was €851.200.

The following were the amounts of rent in advance and in arrears at 31 December
2015 and 2014:

31 December 2015 31 December 2014

€ €
Rent paid in advance 18.700
Rent in arrears (all subsequently paid) 11.200 38.400

What amount of rent expense should appear in the company’s income
statement/profit and loss account for the year ended 31 December 2015?

A. €842.700
B. €820.300
C. €805.300
D. €897.100

6|Page



9. ETtaipeia AlavikoU gpnopiou NANPWVEl €voikia OTOUG IOIOKTATEG TWV KATACTNHATWYV
nou Xpnoigonolgi. To GUVOAO TwV NANPWH®V YiA €VOIKIA MOU €YIVE TO £TOC Nou
éAn&e oTig 31 AekepBpiou 2015 nTav €851.200.

Ta nood Twv NpokaTaBoAwVv Kal TWV OPEIAOPEVWV MOOWV EVOIKIWV KATa Tnv 31
AekepBpiou 2015 kal 2014 RTav wG akoAoUObwC.

31 Ask. 2015 31 Ask 2014
€ €
MponAnNpWHEG EVOIKiwWY 18.700
O@eINOPEVA NANPWTEA EVOIKIA
(nAnpwOnkav YeETayeveaTEPQA) 11.200 38.400

Moio €ival To nood nou Oa napouodialeTal WG £§000 &VOIKiwWV OTNV
KaTaoTaon ouvoAikwv 008wV TnG ETaipeiag oTig 31 AskeuBpiou 20152

A. €842.700
B. €820.300
. €805.300
A. €897.100

10. Which of the following statements are TRUE for limited liability
companies?
(1) Limited companies can issue shares at a premium.
(2) The company’s shareholders exposure to debts and liabilities is limited
(3) A company continues to exist regardless of the identity of its owners
A. 1 and 2 only
B. 1 and 3 only
C. 2 and 3 only
D. All of the above

10. Moieg anod TiG Nio KATW dnAwoeig eivart AAHOEIZ yia TIG ETAIPEIEG
NEPIOPICHEVNG EUOUVNG;

(1) H eTaipeia neplopiohéVNG euBUVNG HMNOPEI va EKOWOEI HETOXEC UNEP TO APTIO.

(2) H €kBeon TwV PETOXWV TNG £TAIPEIAC OTA XPEN KAl TIC UNOXPEWOTEIC €ival
NEPIOPIOHEVN

(3) H eTaipeia ouvexilel va unapxel aveEapTnTta anod To nolol €ival ol IBIOKTATEC TNC.

A. 1 ka1 2 yéovo
B. 1 ka1 3 povo
. 2 kai 3 yéovo

A. 'OAa Ta nio navw
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11. A Company’s plant and machinery account, at cost, is shown below

\ Plant and machinery account (at cost) \

2015 € 2015 €
1 Jan Balance 320.000 | 30 Jun Disposal A/c 80.000
30 Bank. Purchase
Sep of Plant 120.000
31 Dec Balance 360.000
440.000 440.000

The company’s policy is to charge depreciation at 20% per year on a straight line
basis, with proportionate depreciation in the years of purchase and disposal.

What should be the depreciation charge for the year ended 31 December

2015?

A. €72.000
B. €88.000
C. €80.000
D. €62.000

11. O Aoyaplacudcg «EykaTaoTAaoeIg Kal JnXavnuaTa» Piag eTaipeiag ival wg akoAoUubwd.

\ EYKATaoTACEIG KAl HNXAVAHATA OE KOOTOG |

2015 € 2015 €

1Jan  YnoAoino 320.000 | 30 Aoyapiaouog 80.000
Jun d1a6gong

30 Tpanela Ayopd 120.000

Sep EykaTtaoTdoswv
31 YnoAoino 360.000
Dec

440.000 440.000

H noAiTikn TnG €Taipeiag eival va anooBevel 20% £TNoIwG TIG EYKATACTACEIG KAl
MNXavAuaTta Pe Tnv otabepn pEBodo, Ye KaT avaloyia andoBeon oTa £Tn ayopdg Kai
01d6gong/nwAnong.

Moio Ba €ival To Noogo TNG anooBeonG yia To £ToG nou €éAn&e Tnv 31
AekepBpiou 2015

A. €72.000
B. €88.000
. €80.000
A. €62.000

8|Page



12. Panos and Michalis are in partnership, sharing profits in the ratio 2:1. On 1 July
2015 they admitted Panos’ daughter Eleni as a partner. Panos guaranteed that
Elenis’ profit share would not be less than €15,000 for the six months to 31
December 2015, in case is below €15,000 Panos will pay the difference out of his
own share of profits.

The profit sharing arrangements after Elenis’ admission were Panos 50%, Michalis
30%, and Eleni 20%. The profit for the year ended 31 December 2015 is €120,000,
accruing evenly over the year.

What should Panos FINAL profit share be for the year ended 31 December
20152

A. €67.000
B. €70.000
C. €60.000
D. €80.000

12. O Mdavocg «kal MixaAng €ivar ouvetaipol, kalr poipalovral Ta kEPOn Ot avaloyia
2:1.Tnv 1 IouAiou 2015 dexTnkav Tn kKOpn Tou Mavou, EAévn wg ouveTaipo. O Mavog
€yyunonke oTI To pepidlo TNG EAevng dev Ba eivalr Aiyotepo ano €15.000 Toug €&
MAVEG peEXP! TNV 31 AekepBpiou 2015, otnv nepinTwon nou e€ivalr AlyoTepo ano
€15.000 16TE 0 Mavog 6a nAnpwoel Tnv EA&vn yia Tnv diagpopd and Ta dikd Tou
KePON.

MeTa TnVv €1000XN TNG EAEvNG O0TOV CUVETAIPIONO Ta KEPON HolpalovTal ws akoAoUBwG
Mavog 50%, MixaAnc 30% kal EAévn 20%.To kEPDOOC yia TO £€TOG nou €Ange tnv 31
AekepBpiou 2015 eival €120,000, kai eniyepileTal e€Eiocou kaTa Tnv OIAPKEIA TOU £TOC.

Moio Ba eivar To TEAIKO pepidio kEpdoug Tou MNMaAvou yia To €T0G NoU £€Anye
TNV 31 AskepBpiou 2015;

A. €67.000
B. €70.000
. €60.000
A. €80.000

13. Which of the following statements in relation to working capital are
correct?

1. The transfer of raw materials into production increases working capital.

2. The sale of a non-current/fixed asset for €1000, at a loss reduces a business
working capital.

3. The recovery of bad debts written-off in previous year’s increases working
capital.

4. A cash payment to supplier does not affect the working capital
A.1land?2
B.2and 3
r.3and 4
A.1and 4
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13. Moleg ano TIG N0 KATW INAWOEIC avagopika HE TO KEPAAAIo Kivnong €ivai
aAnOeig ?
1. H peTagopd npwTwv UA®V oTNV napaywyn au€avouv To KEPAAAIo Kivnong.
2. H nwAnon evog Un KUKAOQOPOUVTOG evepynTikoU/nayiou aToixeiou yia €1000, os
{nuia, peiwvel To KePAaAaio Kivnong.
3. H gionpa&n xpeoug nou €xel diaypagei au&avel To Ke@AAaio Kivnong.

4. H nAnpwpn evog npounBeuTh Pe HETPNTA dev ennpedalel To KeEPAAalo Kivnong

A.1kal 2
B. 2 ka1 3
C. 3 ka4
D. 1kal 4

14 The finance department of the company prepared the company’s statement of profit
or loss/income statement, for the year ended 31 December 2015, which showed a
loss of €5.000. It was found that €6.000 paid for the purchase of a motor van had
been debited to the motor expenses account. It is the company’s policy to
depreciate motor vans at 20% per year on the straight line basis, with a FULL
year’s charge in the year of acquisition.

What would be the REVISED Profit/Loss for the year ending 31 December
2015 after the correction of the error?

A. €1.000 Profit
B. € 9.800 Profit
C. € 200 Loss

D. € 6.200 Loss

14 To 0IKOVOMIKO TUAMA TNG £TAIPEIAG ETOIMACE TNV KATACOTACGN KEPDOINMIWVY YIA TO £TOG
nou €An&e Tnv 31 AekeuPpiou 2015 nou €deixve {nuia €5.000. MeTa Tov EAEYXO Nou
EYIVE @Avnke 0TI Nogd €6.000 nou NANPwWONKE yia TNV ayopda evog gopTnyou €ixe
XpewOei oTa €€00a oxnUATWV. H NOAITIKN TNG €Talpeiag €ival va anooBevel Ta
@opTNYa Pe NocoaTod 20% To €T0C Pe Bdon Tnv oTabepn HEB0DO anodoBeonc kal va
unoAoyiCel anooBeon yia OAOKAHPO T0 £T0G, OTO £T0G ayopdq.

Moia Oa €ival To kEPdog/nNHia TnG eTAIPEIAg yia To €ToG nou EAn&e 31
AsgkepBpiou 2015 pera Tnv d1I0pOwaon Tou Aaboug;

A. €1.000 Kepdog
B. € 9.800 K&pdog
. € 200 Znyia

A. € 6.200 Znyia
10|Page



15.

15.

16.

During the year ending 31 December 2015 a manufacturing company had sales
amounting to €1.800.000 and a direct labour cost and production overheads of
€950.000. Purchases of raw material during the year amounted to €155.000 which
resulted in a decrease in the inventory of raw materials held on the 1 January 2015
by €5.000. The stock take of finished goods carried out on the 31 of December
2015 showed an increase of €15.000 compared to last year.

The company'’s gross profit for the year ending 31 December 2015 was:

A. €685.000
B. € 710.000
C. €690.000
D. € 705.000

Katd Tn d1apkela Tou €Toug nou €An&e oTic 31 AskeuBpiou 2015, pia PETANoOINTIKN
ETalpeia €ixe nwAnoeig uwoug € 1.800.000 kal Aueco KOOTOG epyaciag kal €£0da
napaywyng €950.000. O1 Ayopég NpwTwV UAWV Kata Tn dIdpKeIa Tou €TOUG avnABav
oc €155.000 nou €ixav oav anoTEAECHA TNV MEIWON TwV ANOBEPATWV TWV NPWTWV
UAWV Nou KaTeixe n €Taipeia kata Tnv 1n Iavouapiou 2015 katd €5.000. H
KaTaypagn Twv TEAIKWV MPOiOVTWV Mou npayupartonoindnke tnv 31n AeskeuBpiou
2015 €dci&e au&non Twv TEAIKWV NMPoiovVTwV KaTd

€ 15.000 oc ox€oNn PE TO TEAOC TOU NPOonyoUHEVOU ETOUC.

To HIKTO KEPDBOG TNG €TAIPEiag yia To €ToG nou €An&e omig 31 AeskeuBpiou
2015 Arav:

A. €685.000
B. €710.000
. €690.000
A. €705.000

Anarida plc purchased a machine for €51.000 on 1 January 2015. After incurring
transportation costs of €2.300 and spending €1.500 on installation, the machine
broke down incurring €300 for repairing. Depreciation is charged at 12% per
annum.

At what carrying amount will the machine be shown in Anarida’s statement
of financial position/Balance sheet, at 31 December 2015?

A. €46.904
B € 48.224
C . €48.488
D. €46.200



16.

17.

17.

H Avapita plc aydépaoe pynxavnua a&iag €51.000 tnv 1 Iavouapiou 2015. MeTa nou
danavnénke nooo €2.300 yia Tnv PeTagopda Tou kal €1.500 yia Tnv €ykaTacTaon
TOou, TO pNxavnua napouciace BAABN kai xpsiaornkav €300 yia emdidpObwon Tou.
AndoBeon unoAoyileTal eTrioia npog 12%.

Moia n kaBapnn AoyioTikn aia ToOu HNXAVAHATOG OTIGC OIKOVOMIKEG
KAaTaoTaoeig Tou Avapita plc oTig 31 AskeuBpiou 20152

A. € 46.904
B. € 48.224
r. € 48.488
A. € 46.200

At 31 December 2014 a company’s allowance for receivables/provision for bad
debts was €15.000. At 31 December 2015 trade receivables/debtors totalled
€419.000. It was decided to write off debts totalling €9.000 and to adjust the
allowance for receivables to the equivalent of 4% of the remaining trade
receivables.

What figure should appear in the income statement for the year ended 31
December 2015 for TOTAL receivables expense/irrecoverable debt
expense?

A. €10.400
B. € 1.400
C. € 9.000
D. €10.761

Tnv 31 AekeuBpiou 2014 n npoBAewn Tng ETaipeiag yia enio@aleic XpewoTeg
avepxoTav oto nood Twv €15.000. Tnv 31 AekepPpiou 2015 ol EUNOPIKOI XPEWOTEG
avepxovtav oe €419.000. AnogacioTnke Onw¢ diaypa@ouv anaiTnoeslg Uyougq
€9.000 kal va avanpooappoaoTei N NPORAEWnN yia enNoCPAAEic XpewoTeg o€ 4% navw
OTIG EVANOWMEIVAVTEG ENNOPIKEG ANAITAOEIG.

Ti nooo 0a napoucialeral WG SYNOAIKO £E030 yia eniCQPAAEIG XPEWOTEG
OTNV KATAOTAON OUVOAIK®V 000wV TNV 31 Aekeuppiou 20152

A. €10.400
B. € 1.400
. € 9.000
A. €10.761
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18. Which of the following statements are true?

1. Share premium is an item that can be found in the statement of financial
position/balance sheet of a Limited company

2. Cost of sales is an item not found in the manufacturing account

3. Dividends received can appear in the trial balance of a partnership as well as a
limited company

A. 1and 2
B 1and 3
C. 2 and 3
D All the above

18. Moleg ano TiG Nio KAT®W dNAMOEIG €ival CWOTEG?
1. O Aoyapiaopog anoBegpaTikoU ano Tnv €kdoon HETOXWV UNEP TO APTIO
oupnepIAaPBAvETal GTOV IGOAOYIONO ETAIPEIAG NEPIOPICHEVNG EUBUVNG.

2. To kO60TOC NWANCEWYV OV oUPNeEPIAAPBAVETAl 0TO Aoyaplaopho BIOPNXAVIKAG
EKMETAAAEUONC

3. MepiopyaTta eiI0npakTea Ynopei va napouoiacToUv oTo 100JUYIO WIAG ETAIPEIAG
Kabwc kal aTo 100CUYI0 EVOG CUVETAIPIGHOU.

A. 1 kai 2
B 1 ka1 3
r. 2 kar 3
A 'OAa Ta nio Navw

19 Which of the following could NOT be found in the financial statements of a
partnership?

Share Capital
Dividends paid
Profit for the year

WN =

1and?2
2 and 3
3and 4
All the above

©0w2>
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19. lMoia and T1a nmio kaGtw AEN napoucialovral OTIC OIKOVOUIKEG KATAOTACEIC €VOG
OUVETAIPIOKOU.

MeTOXIKO KEPAAAIO
MepiopaTta nou nAnpwolnkav
KEpdoC yia To €T0C

WN -

1 ka2
2 kai 3
3 ka4

'OAa Ta nio navw

> 0w P

20. Antony, a sole trader, has the following information at the start and end of the year

2015
At 1 At 31
January December
2015 2015
€ €

Fixed assets (net book value) 42.000 39.400
Stock 20.900 16.600
Trade debtors/receivables 7.800 11.100
Trade creditors/payables 8.500 10.200
Bank loan 2.500 3.800

During 2015 Antony’s business made a loss of € 3.200
What are Antony’s total drawings during 2015?

A. €6.600
B. € 3.400
C. €9.800
D. € 800

20. O1 nio kKaTw NANPoYopieg oXeTICOVTAl ME TNV EMNIXEIPNON TOU AUTOEPYODOTOUNEVOU
AvTvn. oTnVv apxn kal oTo TeAog Tou €Toug 2015

Kara tnv 1 Kara tnv 31

Iavouapiou AekeuBpiou

2015 2015

€ €

rayia oToixXeia evepynTIKOU
(kaBapn AoyioTikn a&ia) 42.000 39.400
AnoBepaTta 20.900 16.600
Ennopikoi XpewoTeg 7.800 11.100
Ennopikoi NIOTWTEG 8.500 10.200
Tpaneliko davelo 2.500 3.800
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21.

21.

Katd 1o €10G 2015 n enixeipnon Tou AvTtwvn €ixe {nuia € 3.200
Moieg gival o1 avaARWeig Tou AvTwvn yia To €1og 2015?

A. €6.600
B. € 3.400
. €9.800
A. € 800

Lakis and Andreas are in partnership. They share profits and losses in the ratio of
3:2 after charging a salary of €10.000 per year for Lakis and interest on capital at
4% per year.

At 1 January 2015 their capital balances were:

€
Lakis 150.000
Andreas 300.000

On 1 July 2015 Lakis introduced a further € 50.000 capital, and his salary increased
to €20.000.

The partnership’s profit for the year ended 31 December 2015 was €136.000.
What was Lakis TOTAL profit share for the year ended 31 December 2015?

A. €78,800
B. €89.200
C. €83.200
D. €83.600

O Adkng kal Avdpeag sival guveTtaipol. MoipadovTal Ta kEpPdN Kai TiG {NUIEG TNV
avaAoyia 3:2 WPeTa TNV a@aipeon €Tnciou PIcBou €10.000 yia Tov Adkn Kal JETA TNV
napaxwpnon Tokou 4% €Tnoiwg NAvw oTa KEPAAAIA TWV CUVETAIpWV.

Katda tnv 1 Iavouapiou 2015 Ta unoAoina Twv Aoyaplacuwyv KEQAAdiou TwV
OUVETaAipwV ATav Ta akoAouba:

€
AAKNG 150.000
Avdpeag 300.000

Tnv 1 IouAiou 2015 o AdknG kaTeBaAe npooBeTo KeEPAAdio Uwouc €50.000 kail o
M1000¢ Tou au&nbnke og €20.000

To kKEPDOC TOU CUVETAIPIOUOU Yia To £T0C nMou €An&e Tnv 31 AekeuBpiou 2015 ATav
€136.000
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22.

22.

23.

Moio givai To ZYNOAIKO pepidio kEpdoug Tou AdkNn yia To £€T1oG nou &An&e
TNV 31 AskepBpiou 2015;

A. €78,800
B. € 89.200
r. €83.200
A. € 83.600

A trader took goods that have a selling price of €1.200 from his stock/inventory for
personal use. The trader’s policy is to sell goods with a mark-up of 100%.

Which will be the impact on the business profit when the above transaction
is correctly recorded on the books of the business?

A. The business profit will increase by €1.200
B. The business profit will increase by €600
C. The business profit will decrease by €1.200
D. The business profit will decrease by €600

'Evag autogpyalOPEVOG EUNOPAG NNPE EYNopeluaTa anod Ta anoBEuaTa nou
dlatnpouace pe a&ia nwAnong €1.200 yia npoownikn Xpnon. H TigoAoyiakn NoAITIKNA
TOU €unopa €ival va €xel 100% kEPDOG ni TOU KOOTOUG Ayopdac TwWV EUNOPEUHATWV.

Moia Ba eival n enidpaon navw oTo KEPSOG TNG ETAIPEIag OTAv N Nio NAvw
guvaAAayn karaxwpnOei opOa ora BiIBAia Tng eTaipeiag ;

A. To kEpdog TNG enixeipnong 6a au&nbei katd €1.200

B. To kepdog TNG enixeipnong 6a augnBei katda €600

. To k€pd0G TNG enixeipnong Ba peiwbei kata €1.200

A. To kepdog TNG enixeipnong 6a ueiwdei kata €600

The trial balance of Boston plc as at the year-end 31 December 2015 included
Interest on loans of € 100.000.

In the income statement/profit and loss account interest on loans in which
heading should be included?

A. Cost of sales
B. Administrative expenses
C. Distribution costs

D. Finance cost
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23. To 1o0luyIo TNG €Talpeiag Boston Plc. yia To €1o¢ nou €Ange oTig 31 AekepBpiou 2015
nepiIAaupBave Tokoug daveiwv €100.000.

2Tnv Katdoraon kepdolnHI®V KATw ano noia enikepalida Oa
OUHNEPIANPOOUV 01 TOKOI daveiwyv;

A. KOOoTOG NWAROEWV

B. 'E€E0da diaxeipiong

. 'E€0da diavoung

A. 'EE0da XpnuaTodoTnong

24. A shareholder sold 1.000 ordinary shares of a nominal value of €1 each, for €2.000.
What effect will this have on the share Capital of the company?

A. It will decrease by €1.000
B. It will increase by €1.000

C. It will decrease by €2.000
D. It will not be affected

24. 'Evac petoxoc nwAnoes 1.000 ouvnBeic HeETOXEC ovopuaoTiknG a&iag €1 yia €2.000.
Mwg 6a ennpedosl autn N NPA&nN To HETOXIKO KEPAAAIO TNG ETAIPEIAGC;

A. Oa peiwbdei kata €1.000
B. ©a au&nbei katd €1.000
. ©a peiwdei kata €2.000
A Aev Ba ennpeaoTei

25. Peter bought a business taking over all its assets and liabilities for € 200.000. The
Acquired assets and liabilities were valued as follows.

€
Buildings 80.000
Bank Overdraft 10.000
Furniture 10.000
Motor vehicles 30.000
Stocks/Inventory 15.000

Payables/Creditors 25.000
Receivables/Debtors 30.000
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Which of the statements below is correct in respect of the purchase of the
business?

A.

B
C.
D

Peter is paying €200.000 for Goodwill

The buildings he is acquiring are costing him €20.000 more than they worth
He is paying €70.000 for Goodwill

None of the above.

25 O MNéTpog ayopaoe pia enixeipnon yia €200.000 avaAauBavovTacg Ta nepiouciakd Tng
oTOoIXEia Kal TIC UNOXPEWOEIC TNG. H a&ia Twv NeEPIOUCIAK®Y OTOIXEIWV KAl
UMOXPEWOTEWV NTAV ONWCS N0 KATW:

€
Ktnpia 80.000
Tpane(ikd napaTpdaBnyua 10.000
'EninAa 10.000
Oxnuara 30.000
AnoB<parta 15.000
NAnpwTEQ/MOTWTEG 25.000
EionpakTea/XpewoTeq 30.000

Moia ano TIG Nio KaTw dNAMOEIG Eival owWOTNR;

O MN&Tpog Ba nAnpwaoel €200.000 yia dAun kar MeAaTeia

Ta KTipla, nou anéktnoe o MeTpog Tou kooTioav €20.000 nepioogdTEPO TNG a&iag
TOUG.

©a nAnpwoel €70.000 yia ®Aun kai MNeAaTeia.
TinoTa ano Ta nio Navw.
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